#BR :1/2,500

(Y (1)
X ASEEN:

« 133.3

167.8 AMED

12410

@25 3

W~E)=E

- 137.3

.

740

g

(7

BARZRDIEE |2EfHbOHE
HIEFEETES  [132207A661114092
ElRIE K488
T 7E i ST FHEET

i & B

#& R :1/50,000

BRI Y) VRRENT w@
N ¥ |

SUARN I Ky :] b -

I8 = N

o = N [P :
XIOHE IS, E L RO $E i E50000 M REH) #ERALELDOTHS,

X & & R A

- IBRERIERRE (BPERAES) —
BEIZEBD HAM00KN/ mERBZ HR KL
] smEsemERZ AR

[ ] zhesors

18 PR X dgh [ R <
TRFEDNOREESDRT

[TEFDHORSSI—ERIZHE

Ok

TERE

N

0 50 100 m
Ty S

1/2,500

1/ 2

ERRE




TEFOAODKESS—E

(BEEE) BARRDIEE |AEfHORE
1. TEEO)%&{EW?”@”M{%E%‘:*U'Zﬁ’\ EMAEES  |132207A661114092
jjd)lZé;‘i%EO)EﬁHﬁJ éhf:Eﬁﬂ@ﬁkaEmLTL %, N e -
(A) BENZ LB NH100kN/MZERBZ DREBDOBED 51 DB KIEKN/ 1) (E) BN IMERZ DR B DHEED N DRABEKN/) 2 ITHXERARUZENISHIBREEZHT S s A8
bl ) mEBZ %X AEKN/M EM3mEE R & I ATEKN/m st A —HF-L USE4mi - p—
B) (AN LZEREWIFERT S HED LA EDE(m) (F) (B 4R RS BB ) L% DB &(m) %ﬁ?gﬁ%ﬁ_égfﬁi‘ﬂ?t%%if_ﬁ@ mﬂ T 7E #b L™ AT
(C) BBEN=LZHH100kN/ ML T DR BHDFEEND F DB KIEKN/ m) (G) HEEIIMUTORBOHFED DB KIEKN/m) BAMEN=1d- " rHMI,-.:_ =1H Pri-tm AT
D) C)ALHEEYIERTIBENEEZENEI(m) H) QN LZBREY AT IBEDLREENES(M) DEGRENCBEETHIENTED,
HNETHLIYTHADLIRZEDHDORES SEMADTREDHDAES
RAES " =
(A) B) (©) (D) (E) (F) (@) (H) (B) ©) (D) (E) (F) (@) (H)
(1) - - 61.2 1.0 - - 8.6 1.7 — 59.5 1.0 — - 8.6 1.7
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